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 6. 由題意可知 
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(3) 由圖可知，越往右，下降的趨勢減緩，所以第 150~200 
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A. 分類討論 
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【詳解】 



 第 3頁共 3頁 

(1) 

11 13

21 23

11 12

21 22

1

8

a a

a a
y

a a

a a

= = (1 分) 11 12

21 22

8
a a

a a
= − (3 分) 

(2) 

1

32 33

23 31

3 4 1

1 1 1

a a

a a

−
−   

= =   
− −  

 (1 分)
1 4

1 3

− − 
⋅ 

− − 
  (1 分) 

 

1 4

1 3

 
=  
 

  (1 分)

 
31 3a∴ = (1 分) 

(3) 由(2)， 23 1a =  11 9a =∵  

11 13 13

21 23 21

9
1

1

a a a

a a a
∴   =   = −  13 21 10a a⋅ =  

 13

21

2

5

a

a

=


=
(1 分)或 13

21

5

2

a

a

=


=
(1 分) 

若 13

21

2

5

a

a

=


=
 11 12 12

21 22 22

9
8

5

a a a

a a a
  =   = −∵  

 22 129 5 8a a∴ ⋅ − ⋅ = −  12

22

7
( 0 9 )

3

=
 ≤ ≤  

=
∵

ij

a
a

a
 

 但此時
2 7

1
1 3

x∆ =   = −

 

 
1

8

xx
∆ −

= =
∆ −

(與題意
1

2
=x 矛盾) 

若 13

21

5

2

a

a

=


=
 11 12 12

21 22 22

9
8

2
=  = −∵

a a a

a a a
 

 22 129 2 8a a∴ ⋅ − ⋅ = −  12

22

4
( 0 9 )

0

=
 ≤ ≤  

=
∵

ij

a
a

a
 

 此時
5 4

4
1 0

x∆ =   = − 
4 1

8 2

xx
∆ −

= = =
∆ −

 

故所求為 0945201314(2 分) 
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